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Al 50,000
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Al 5,000
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= 5,000
Al 5,000
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Al 10,000
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Al 5,000
10 AIAHIE &= 10,000 0 10,000
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-&0= 1,150,000 *2H *300% 6,900
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-H g AlY| 80,0003 »2H x12& 1,920
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_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o Rz
—2A2d 223022
768,0002 768
R =T 0| 116,640 111,600 5,040
202 OFl 116,640 111,600 5,040
01 =0l 64,800 64,800 0
OFQUPETONM  20,00021+30 02U+ 128 64,800
02 2o 0iH| 51,840 46,800 5,040
OSpags NTZ2H FAHOHY) 51,840
-R{El AR (IR 5,78,
seh,01=) 330, 0002 *6 % * 122 23,760
SIEF Mg 260,0002 *9 * 122 28,080
=9 J|z2(SYHLLM/5Y - 5E) 1,793,220 2,109,088 ~315,868
= 225,881
= 60,000
I} 5,025
Al 1,502,314
SEZW FY IBAH 1,200,254 1,244,952 44,698
w 5,025
Al 1,195,229
e Bl 375,525 358,458 17,067
101 Q12| 2,200 2,123 77
B EE RS 2,200 2,123 77
Ol BolE M= 2,200
—ol 33,5002 #5222 2,010
AURE JIBREYD 2,010, 00024 +9.45% 190
201 L2yl 2,300 2,400 A100
01 At 22l 2,300 2,400 £100
O1. L2 900
~APRE SRR R0
9,00021 #1005 900
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“MIIEEE FX 0RI2SR 24
7,0002! 42§ x5 103 1,400
202 Ofl 5,400 5,400 0
01 =Loit] 5,400 5,400 0
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Ozed H dollsgM Al 3,500
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== PN 100, 000& +5Z *5ha 2,500
OH RSE ¥ £23XY Z3HE W= 5,000
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-59f 10,000 2005 2,000

Al 29 HE7Y 20,0008 *155 300

12,0002+ 100 1,200
301 LsrBAZ 4,440 4,800 A360
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OMZxE BItsl 34 7,00021 4702 x23| 980
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OAEYSY HTST HHO|
60,0002 x25% 1,500
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402 QIR+ OIF 351,185 333,685 17,500
01 AR=LZE 351,185 333,685 17,500
OREY LEA0S MMM E4
1,000, 0002 *350ha*70/ 100 245,000
OHNEBLH HML0)| B2
750,000 *50CH %50/ 100 18,750
ONZ SN0 SHEHES AL
21,000,000 *1H 2+70/100 14,700
O8RS B0 23
6,000, 0002 * 17 4 %80/ 100 4,800
OR&Z Db CPKHIE Al
170,0002! *120ha*2% ¥70/100 28,560
Orle D+ BIHL NMSHAY I3
Al 105,0002! *150na*70/100 11,025

OHCHHl Z=MS THEHER =d

10,500, 000& *1JH 2 %70/100 7,350
Qs AEME E=SAIE
500& *10,0000H 6 IH 2 %70/ 100 21,000
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301 ErEA= 3,800 3,900 A 100
10 HAAMHIEA S 3,800 3,900 A 100
OLSHSAIEAYE Eotus 4L sS4
7,000& <20 x10& = 1,400
OASH=S20F s w=04l
60,0003 x20H 2 2,400
402 BI2tt=0ld 402,765 400,746 2,019
01 BIZtR=2E=x 402,765 400,746 2,019
OMA OMMSE HoHLXICHEANY (22t
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O&Jl &ED] PPE S LI=HHH
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Ofx S SR04 THHHAIE
1,245,000 *4Z *20ha*70/100 69,720
O3 ==2otF HHU=E AlB
3,500, 000& *30ha*70/100 73,500
OM ASH= OF2EH Al
30,000 *1,000m* *70/100 21,000
OtA MASLEA ot M3 AlY
5,000,000& 1074 2~ *70/100 35,000
OAIEM A HEHIZ2Z 3SE2ME Al
90, 000& *3&*200a*70/100 37,800
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101 1A 16,133 13,443 2,690
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OELHEFEX 2RY 33,5003 x2ZF +70 4,690
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OJtsz2gdds 28 a1y 11,000
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-AtEel X E IdEN 25
10,0003 x25+50 £ 1,000
OZEZFA A 2 M= 100,000& *14& 1,400
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OZE24=20F =2 =0l
60,0003 x8H x2& 960
307 gIz2tol & 9,000 9,000 0
02 Ql2tAAEX 9,000 9,000 0
OXg=sitg ANHHEH 22l
9,000,000 9,000
402 fI2t=E0ld 66,920 96,020 229,100
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